PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		417.0	1,100.00	458,700	lbs.	\$238,524
Seed - Non-irrigated		417.0	1,760.00	733,920	lbs.	\$40,366
Cotton (Total)		417.0				\$278,890
FORESTRY						
Pulpwood						
Pine				142,404	cords	
Hardwood				22,166	cords	
Pulpwood (Total)				164,570		
Chip & Saw				48,689	cords	
Saw Timber						
Pine				15,203,754	board feet	
Hardwood				882,576	board feet	
Saw Timber (Total)				16,086,330		
Total Pulpwood, Chip & Saw,	,					\$22,679,850
Saw Timber FOB Mill						
Total Forestry Stumpage						\$11,574,570
Forestry (Total)						\$22,679,850
FRUITS						
Mayhaws						
Native	30	140.0	130.00	18,200	lbs.	\$18,200
Mayhaws (Total)		140.0				\$18,200
Fruits (Total)		140.0				\$18,200
FEED GRAINS						
Grain Sorghum		184.0	55.00	10,120	cwt.	\$40,480
Feed Grains (Total)		184.0				\$40,480
HAY FOR SALE						
Grass	12	275.0	2.50	687	tons	\$34,350
Grass	12	2/5.0	2.50	687	tons	\$3

PI.	ANT	ENTER	PRISES	PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Units of Production Measure	Gross Farm Value
Hay for Sale (Total) HOME GARDENS	900	275.0			\$34,350 \$270,000
SOYBEANS VEGETABLES		180.0	25.00	4,500 bu.	\$29,925
Southern Peas (Fresh) Vegetables (Total) TOTAL ALL PLANT ENTER	10 RPRISES	40.0 40.0	85.00	3,400 bu. (24 lbs.)	\$68,000 \$68,000 \$23,419,695

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS				19	pelts	\$101
ALLIGATORS (WILD)				22	ft.	\$495
HUNTING LEASES		250,000	No. Acres		acre	\$1,375,000
			Leased			
TOTAL ALL FISHERIE	S & WILDLIFE ENTERPRISES					\$1,375,596

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total U Production M	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			350 h	head	\$127,180
400-500 lbs.			500 h	head	\$209,003
500-600 lbs.			250 h	head	\$114,868
600-700 lbs.			150 h	nead	\$78,000

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of	Gross Farm Value
	Fiduceis	rioduction	Froduction	ivicasuie	v alue
CATTLE & CALVES					Φ.5.20, 0.5.0
Steer Calves (Total)					\$529,050
Heifer Calves			2.50		Ф11 2 020
300-400 lbs.				head	\$112,039
400-500 lbs.				head	\$188,483
500-600 lbs.				head	\$212,960
600-700 lbs.			100	head	\$48,750
Heifer Calves (Total)					\$562,231
Yearling Cattle					
600-700 lbs.				head	\$52,000
700-800 lbs.			150	head	\$84,375
Yearling Cattle (Total)					\$136,375
Cow-Calf Pairs			100	pair	\$72,000
Cull Cows			200	head	\$66,045
Cull Bulls			75	head	\$54,788
Cattle & Calves (Total)	95	3,000 No. Cows			\$1,420,488
HORSES					
Brood Mares					
Recreation Horses	10	75 No. Brood Mares	50	head	\$75,000
Brood Mares (Total)					\$75,000
Show Horses	50		150	head	\$600,000
Recreation Horses	250		750	head	\$750,000
Horses (Total)					\$1,425,000
GOATS					
Slaughter Goats			275	head	\$23,375
Stocker Goats			45	head	\$2,925
Cull Goats			50	head	\$2,100
Goats (Total)	15	250 No. Does			\$28,400

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Feeder Pigs			175	head	\$3,150
Slaughter Hogs			150	head	\$18,525
Culls			5	head	\$550
Swine (Total)		No. Sows			\$22,225
TOTAL ALL ANIMAI	L ENTERPRISES				\$2,896,113
LASALLE PARISH	I TOTAL		-	-	\$27,691,404